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Have out your grephing:calctlator!!

1. Determine the number of solutions for the
following systems of equations. One, None, or Infinite

a) y=3x—1 “‘QM’ :\“:-3

y'_=3x+6

b) y = 4x-7
Y= 5XT L ——

2. Which of the following represents the parent
function of y = 5x — 2?
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oo HW Check

2. (-1,-2)

3. (1, -2)

4. (0,3)

5. 235 student, 123 non-student tickets
6. 7 Gala apples, 12 Granny Smith apples

/. Karrie is incorrect, she didn't distribute the
negative to the 3.
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Algebra I - Unit 6: Topic 2 — Solving Systems by Elimination Day 2 l*X'l"-q

Practice — Solving Systems by Eliminati?uf!\ pp 397-403 L\@

Name Period

Solve each system by elimination 3’“ \ x
3x -5y = 7)

Sx-2y=4 3x -5y =13 ‘; x+3y=9

3x+y=9 _2% X =2y = 5 X-2y=5 f 3x+4y=1) 2?
19 =3 X =
=) x:?\r‘-3 \k =48

- &3
5. Th%&ed fifty- elght tlckets were sold to the S‘A d“s

ool basketball game on Friday. Student tickets were $1.50 an
non-student ticke ade $?5ﬁ How many student and non-student tickets were sold?

LerSiudRats = =shwdent
o X '\l 5 -\-\ég 1_93 =352.25 Y=l nokets
S BB o (00

VA= 21426
Set up and solve the system by eli .‘ﬁ
6. Carl bought 19 apples of 2 different varie es € a pie. \e tofal Tost of the apples was $5.10. Granny Smith

apples cost $0.25 each and Gala apples cost $0.30 each. How many of each type of apple did Carl buy?

7. Karrie and Amy were shoulder partners. They both worked the same problem, but got two different answers. Who is
incorrect and explain the error they made?

Karrie: W\.&
X+y=-3 —>» X+ W -3 q

When she solved for x, Karrie got x =0
X+y=3 —»

Amy:
-3 —>» __
;(X++yy _ ; f(;;; y?:) 3) When she solved for x, Amy got x= 3

-2x=-6
x=13
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Where is . .
the solution is a point (x,y)

here? where the lines

\@/ intersect
VAR

Does a system of equations always

have a solution”? Why or why not?
N O . Paalle) \i0es dont
IO SR S
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Wwaw&%mw%@ax%iwm&%wm Check in the
éaﬂ&ua/n?a/ca/faufazfom.
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Solve the systems BY GRAPHING!
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Which of the following is the solution to this
system of linear equations?

DK (0,4) BB, 1) 4@ -3@
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(Jsing The

Calculator

To solve a system of equations by
graphing using the calculator:

T1-84 Plus Si

Sl UL HTER
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) Write @ sys’ré\m of eﬂuo IC

Let Statement

Lot haYS be .

| Lox Mo\ cost

C) Explain when it is cheaper for the soccer team to use
Top Stuff and when it is cheaper to use Hats Off.
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SOLVING BY GRAPHENE

let's practice solving by graphing. don't forget to verify!!

1. y=$x+1 . y=-2x+4 . [y=gx+2
= _ix -4 —

2 y=x-3 X+y=-2
Intersection: { , ) Intersection: ( , ) Intersection: ( , )
Solufion: x=y= Solufion: x= y= Solufion: x= y=

Verify algebraically Verify algebraically Verify algebraically

=-1 5. [y=x+1 3

= 2 y=x-4 -

solution: x= y= solution: x= y= solution: x=  y=
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Algebra I - Unit 6: Topic 2 — Solving Systems by Graphing
13. Shelby solved the following system of equations and reported that x =4and y =6. Solve the system of

equations by graphing. Is she correct? Why or why not. Use the table to justify your answer.

y-x=2 X Vi vz

4y =8x-8

14. Coach Sureshot needs to hire an electrician to do some repair work at his new home. A-1 Electricians charge
$30 for a service call plus $45 per hour while Excellent Electricians charge $40 per hour plus a $55 service call.

A) What equation could represent the cost for hiring A-1 Electricians?
B) What equation could represent the cost for hiring Excellent Electricians?

If the electricians only work for 2 hours, how much will each company charge him?
C) A-1 Electricians will charge
D) Excellent Electricians will charge

If the electricians have to work for 8 hours, how much will each company charge Coach Sureshot?
E) A-1 Electricians will charge
F) Excellent Electricians will charge

When will both companies charge the same amount?
G) For hours, both companies would charge

‘¥15. Which graph best represents a solution to this system of equations?

2x =3y =0
X+2y=-7
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